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B void init( int x[], int y[] )

B int count( int a, int b, int c )

of A5 e YolM MY At 2o FAtolo} At 22, HE ALES WEON Ao
AP & QT AlESt ZE= 4EE S AU O & Ido) Adsto M= ereElth
grader O A]

ZO0lA]= grader+ O3t 2 JA02 JHS A=t
m line I: N Q
(D2 AR 22F 7 yiL)
02 QY & A4 abe

(M @429 W3 a, b, c, 0<a,bc <N—1)

ol A& gradert 0} Aoulct £2L AFotE BAEY }SISE B2 FRAA ST

Ak =4
e 3 <N <3000
e 1=Q<5x10°

e DE 49 xatmel yEEE 0 o4 10° o]a}
MEEjA3F 1 [5 points]

¢« N<500, Q=<10°
o o™l N J= g AA ofl YA ¢

ANBEJA3 2 [17 points]



e N<500, Q<10

ABEJA3 3 [10 points]
e N <500
s OEANAZ

&

A4 ol 9lx|

62

XNHEEjA3 4 [8 points]
e N <500

ANBEJA 3 5 [29 points]

« olE A FE & A4 Yol Al ek

XNBEJA3 6 [3]1 points]
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Tr2E A gt
init( {0, 1, 2, 4, 0, 2}, {0, 1, 2, 3, 2, 0}

count ( 0, 5, 2) 4
count ( 1, 3, 4 ) 4
count ( 4, 1, 5) 3




